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ANSWER KEY AND FEEDBACK

CBT CLASS VI

SUBJECT - MATHEMATICS

SYLLABUS-
(MENSURATION
QN QUESTION OPTIONS PROVIDED COR | EXPLANATION
0. RECT
OPTI
ON
1. The amount of surface enclosed A. Length d Feedback- Area is
by a closed figure is called its B. BREADTH defined as the total
C. PERIMETER space taken up by
D. AREA a flat (2-D) surface
or shape of an
object.

2. If the area of rectangle increases a. Decrease b Feedback- If the
from 2 cm? to 4 cm? the perimeter b. Increase area of rectangle
will C. remains same increases the

d. none of these perimeter also
increases.

3. One side of a regular pentagon is Feedback-

5 cm. Its perimeter is a. 5cm perimeter- 5X SIDE
b. 15cm So 5x5=25cm
c. 25cm
d. 20cm

4. The length of the boundary of a a. Area C The length of the
figure is called its b. Diagonal boundary of a

c. Perimeter figure is called
d. none of these perimeter

5. The area of rectangle whose a. 225cm? b Feedback-
length is 1.5 m and breadth is 15 b. 2250 cm? length=1.5m =
cm c. 225m? 150 cm

d. 2250 m? breadth = 15 cm

Area = length X
breadth =150 X 15
=2250 cm?




9cm

. Area of the given figure is

cooTw

62 cm?
64 cm?
60 cm?
58 cm?

Feedback-

Area of Rectangle =
Length X Breadth
Area of Square =
Side X Side

Area of the given
figure = Area of
MNCB + Area of
AMGH + Area of
EFND
=[(5x9)+(4x2)+
(3 x3)] cm?
=[45+ 8 + 9] cm?
=62 cm?

The area of the shape shown in
the figure given below is

coow

4.5 sq units.
4 sq units.
3.5 sq units.
5 sq units.

Feedback-

(i) Fully-filled
squares = 3 (ii)
Half-filled squares =
3

Area covered by full
squares =3 x 1 sq
units = 3 sq units
Area covered by
half squares = 3 x
0.5squnits =1.5
sq units

Total area = 3.0 +
1.5 = 4.5 sq units

. The cost of fencing a square park
of side 250 m at the rate of ¥ 20
per meter is

cooTw

< 10,000.
% 18,000.
% 22,000.
% 20,000.

Feedback-

Side of square =
250 m

Perimeter of square
=4 x side

=4 x 250

=1000 m

Cost of fencing =%
20 perm

Cost of fencing for
1000 m =% 20 x
1000

=% 20,000

.". The cost of
fencing the square
park is ¥ 20,000.




9. The perimeter of a triangle with a. 38cm Feedback-
sides measuring 10 cm, 14 cm and b. 37 cm Perimeter of
15 cmis c. 39cm triangle = Sum of

d. 36cm the lengths of all
sides
=10+14+15
=39cm

". The perimeter of
the triangle is 39
cm.

10. . Aflooris 5 mlong and 4 m wide. Feedback-

A square carpet of sides 3 m is a. 11 m? Area of floor =1x b
laid on the floor. Find the area of b. 10 m? =5x%x 4 =20 m2
the floor that is not carpeted. c. 12m? Area of square

d. 09m? carpet=3x3=9
m2
Area of floor that is
not carpeted = 20 —
9=11m?

.". The area of the
floor that is not
carpetedis 11 m2.
SOCIAL SCIENCE
SYLLABUS-1-FROM KINGDOM TO AN EMPIRE
2-MAJOR DOMAINS OF THE EARTH
3-URBAN ADMINISTRATION

11. Which is the earth consisting of a. Atmosphere ?ﬂ?m??a Feedback-The
solid portion? S ST I e b. Hydrosphere SiciHSd lithosphere is the
YT & T hgellall 87 c. Lithosphere fardIThR solid, outer part of

d. All of these @3 Earth. The
lithosphere includes
the brittle upper
portion of the
mantle and the
crust,

12. Which gas is the major constituent a. Oxygen et Feedback-N, forms
of the atmosphere by percentage? b. Carbon dioxide Tl about 78% of
wfcierd & argHs e H Fad 3Heh SERIERIEE] Earth's
AT H m e dhid-ar 3T &1 c. Carbon monoxide &TseT atmosphere,
g7 AATFaEs making it the most

d. Nitrogen =Tgcretel abundant

uncombined




element in air.

13 -Which one of the following is not a. Running water &gdT 9l Feedback- A
an agent of erosion and b. Glacier. volcano is a
deposition?  fAeAfaf@a® @ c. Wind gar rupture in the crust
il AT Ferd 3R HeI9uT FT Teie d. Volcanoes SaTeledr of a planetary-mass
AT 82 object, such as
Earth, that allows
hot lava, volcanic
ash, and gases to
escape from a
magma chamber ..
14. | Who does the work of measuring a. Doctor Tfehcas Feedback-Patwari
land and keeping land record? b. Chemist &fATe is a term largely
A T AT 3N A Rl Tet c. Patwari geandr used in north and
T HTH i FIATE? d. All of these ¥ @slY central India. He is
a village officer in
the local authority
who maintains the
ownership records
for a specific area
as well as to
undertake the
collection of land
taxes.
15. Patwari is also known as Feedback-Patwari
JediY & ®9 & ot ST 1T B- a. lekhpal of@UTer is also known as
b. karamchari SHIFHART lekhpal
c. village officer ATH
3ifaRY
d. all of these & TafY
16. a. Ramayana ITHTIUT Feedback-Chandra
In which book were Chanakya’s b. Mahabharata HGIHARJ gupta was
ideas written?=IToTeR & fa=IRT el c. Arthashastra 37¥med supported by a
foha qede # forgr s ar? d. None of these ST & wise man named
PIS TET Chanakya or
Kautilya. Many of
Chanakya's ideas
were written down
in a book called the
Arthashastra.
17. | In which language were the a. Dev Nagari &d #ATIRY Feedback-Brahmi
Ashoka’s inscriptions written? b. Sanskrit W Script sTEHT foifa-
31l & RIeTera fore #reT 7 forg c. Tamil affa seAT fafy teh




T A?

d.

Brahmi Script sTeaT farfar

i fafd § e
3 viRrrs fafat
& TAhTH g3 3|
Srellet STEAT forfy &
3¢S 3EE0T
THIC 3120 (311eh)
AT SET g ey
QUATSST H FoAdT I
fRretrer@t & &9 &
3elsh TUTAT N
fFea &1
ITTHYTAT & TR 6
EINGICARSINCED
o o A &1

18.

What is the meaning of word
Dhamma? gFH
QTeg T 31 FAT 82

apow

Environment YJTaIoT

Dharma €&
Both (a) and (b
None of these FIS T

Feedback-Dhamma
means 'to uphold',
and therefore it is
central to Buddhist
belief as it 'holds
up' the religion and
Buddhists may also
believe that it
upholds the natural
order of the
universe

19.

Ashoka was inspired by the
teachings of . 312lh

T RIS A URT & |

apow

Mahavir HgER
Buddha ga}r

Satakarni FdeRET
Gargi amaft

Feedback-Upset
with his violent
conquests that
killed hundreds of
thousands, the
Indian king Ashoka
embraced
Buddhism

20.

is the ancient name of
coastal Orissa. g 33T
T Tt AT &

apow

Magadha #Hate
Kalinga @felar
Vaijji dooll

Burzahom T

Feedback-Ashoka
was in a war to
conquer Kalinga.
The modern name
of Kalinga is
Odisha.

Ashoka was in a war to conquer Kalinga. The modern name of Kalinga is

Odisha.

SYLLABUS- LIGHT SHADOW AND REFLECTION

21.

Q1The image formed in a pinhole
camera produces is always

a.

(a) erect and same size of
object .

Feedback-The
image formed in a




(b) erect and either
smaller or bigger or of the
same size as the object.

pinhole camera
produces is always
Inverted and the

c. (¢) Inverted and the same size of the
same size of the object. object
d. (d) inverted and either
smaller or bigger or of the
same size as the objects.
22. What is true about shadows and a. (a) Shadows are always Feedback-Shadow
images? black in colour. formation is due to
b. (b) Shadows are formed obstruction of light
because light travels in by an opaque or
straight line. translucent object
c. (c)Images shows the which causes
colour of the objects darkness on the
d. (d)All the above screen behind.
Image formation is
due to reflection of
light rays from an
object. These two
are completely
different
phenomena.
23. a. (a)Aball Feedback-
b. (b) A flat disc Because a shadow
Which of the following can never c. (c) A shoe box is two dimensional
form a circular shadow? d. (d) Anice cream cone and a sphere is 3
dimensional .. a
circle is a 2d circle
in the same way a
square is a 2d
cube... So a
shadow of a sphere
is a circle
24, Paheli observed the shadow of a (a) The shape of the Feedback- shadow

tree at 8:00 a.m., 12:00 noon and
3:00 p.m. Which of the following
statements is closest to her
observation about the shape and
size of the shadow?

shadow of the tree
changes, but the size
remains the same.

(b) The size of the
shadow of the tree
changes, but the shape
remains the same.

(c) Both the size and
shape of the shadow of
the tree change.

(d) Neither the shape nor
the size of the shadow

changes size
according to
position of sun.




changes.

25. Two students, while sitting (a) Unpolished wood Feedback-Consequ
across a table, looked down on (b) Red stone ently, photons of
its top surface. They noticed (c) Glass sheet visible light travel
that they could see their own (d) Wood top covered through glass
and each other’s image. The with cloth instead of being
table top is likely to be made of absorbed or

reflected

26. | Which of the following can (a) A ball Feedback-Because
never form a circular shadow? (b) A flat disc a shadow is two

(c) A shoe box dimensional and a

(d) An ice cream cone sphere is 3
dimensional .. a
circle is a 2d circle
in the same way a
square is a 2d
cube... So a
shadow of a sphere
is a circle

27. Out of these ,which one is not a (a) Electric bulb Feedback- Most
man-made luminous body? (b) Burning candle fireflies are

(c) Firefly (Jugnu ) nocturnal, although
(d) lamp some species are
diurnal.

28. What is lateral invertion ? (a) image becomes Feedback-When

inverted the image of an

(b) image bends laterally object is erect but is

(c) Right of the object inverted in the

appers left of the image lateral side, it is

(d) All of these happen called lateral
inversion.

29. In the morning when the sun (a) North Feedback- shadow
rises in the east .Your shadow will (b) West appears opposite to
be seen on the (c) South the source of light.

(d) East
30. Arti placed a stick in the play (a) It will be shorter then Feedback-It will be

ground at 8;15 am in the morning
.How will the shadow Of the stick at
12;00 noon be in comparison to
the one at 8;15 am:?

one at 8;15 am

(b) It will be same as one
at 8;15 am

(c) It will be greater then
one at 8;15 am

(d) Shadow will not form

shorter then one at
8;15 am because
this time sun is
close to the surface
of earth.




at 12;00 noon .




